o =
R 1%

SC-3
SC-4
SC-5
SC-6
SC-7
SC-8
SC-9
SC-10
SC-12
SC-16

SC
=MUEBIREE (I3

3-jaw scroll chuck plain back, solid jaws
(front and back mounted)

1.1E~ R > ST BUHRAERT -

2. BEERARAETENEEER - REBERM Y -
3. #5/0.03mm (0.0012") T.I.R.
4 FEMERKEMEE  BRARSRER; BAESRKR—R
ME3MEZM A -

BT : mm

86
112
132
167
192
200
232
273
310
405

46
60
60
67
76.5
76.5
84
87
96
122

60
80
100
130
155
160
190
230
260
345

73
95
115
147
172
176
210
250
285
375

16
24
32
45
58
58
70
89
105
160

4.1
48
438
5.5
5.5
5.5

8.7

3-M6 / 3-M6x50
3-M8 / 3-M8x70
3-M8/ 3-M8x70
3-M10/ 3-M10x70
3-M10/ 3-M10x80
3-M10/ 3-M10x80
3-M12/ 3-M12x90
3-M12/ 3-M12x90
3-M12/3-M12x110
—/6-M14x130

110
146

11
14
16
19
21.5
21.5
24
28
30
42

14.3
16.6
20.3
23.7
29.4
29.4
35.6
39.5
45.6
56.3

11
11
12
12
14
15

3.0
4.5
6.5
9.0
11.0
11.0
15.0
19.5
21.0
25.0

900
1200
1500
2200
2500
2500
3000
4000
4200
4500

2500
2500
2500
2000
2000
2000
2000
1800
1800
1500

1.7
3.7
5.2
9.3
14.2
16
22.7
31.8
44.8
102

0.01
0.03
0.06
0.07
0.15
0.25
0.58
1.75

02-@70 / @24-064
@3-095 / §29-084
@3-0110/ @33-@100
04-2160 / ©48-@150
04-2180/ ©56-@170
@4-0190 / ©62-3180
05-@220 / ©62-0210
06-0260 / @70-D250
@10-3300 / ©86-0290
J30-2380 / @110-0360



